30V

220 2R26
220 -
L 21k5
.
5
3
KL3L21 §
Rs " i1 vr2 -
2n2222 2n2222 24
"LT1006
a1 R12
o7 i 48
10n
RENSTFSS V=v(div) 5.8a 4.14r
a
t i 48
i
100p
L3 R4 t—div
S1am 10k RS
3K9
sw v
8
PGND s1
RENSTFSS N PWL(0 -1 50m -1 50.001m +1)
=0.01 R2 v
ser=o 2%5
4
 S—
::z 220 ZR11
220 23
21k5
-
5
KiLlL41 . g
R% vz vrs R21
2N2222 2N2222 2
"LT1006
[ R20
b1 i} 4.8
10n
RENSTFSS V=v(divi) 5.8a 4.14r
s
i 48
s i
= 100p
L am7 RS i
Sam 10k R16
310
sw ve
02
UPGND1 s2
RENSTFSS [ BWL(0 -1 50m -1 50.001m +1)
R24
245
4
T raws-
J7 tran 0 200m 0

.model sw sw(ron=1m)

C:\fromu\thetwol\Linear requlators.asc ---



